
30 years of inequality 
in New Zealand
Over the last three decades our country has undergone 
a step change in inequality. We’ve gone from being one 
of the most equal to one of the most unequal countries 
in the developed world. Why?
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*The Gini index represents the spread of incomes in a country. In a country with a Gini index of 0, everyone would 
receive an equal income. In a country with a Gini index of 1, just one person would receive all the income.New Zealand Council of 

Christian Social Services


